
Vendor: K0637985W

Exam Code: C2090-719

Exam Name: InfoSphere Warehouse V9.5

Version: Demo



QUESTION NO: 1 

What are two reasons for a combination of database and front-end tool based analytic 
architectures in a data warehouse implementation? (Choose two.) 

A. Less data is moved across the network, making queries run faster. 
B. The database can provide consistent analytic calculations and query speed for common 
queries. 
C. The combination of architectures will ensure fast query performance. 
D. Multidimensional queries cannot be processed in SQL by the database engine so it must be 
done using a front-end tool. 
E. The front-end tool allows for additional and more complex algorithms specific to applications 
that use that tool. 

Answer: B,E 

QUESTION NO: 2 

After deploying an application, you might need to update it by making changes to one or more 
data flows. Deploying changes to an existing application is called delta deployment. How do you 
package changes using delta deployment? 

A. Package only the operator or property that has changed. 
B. Package the data flow that has changed. 
C. Package the control flow. 
D. Package all the items that were originally packaged and use the same profile that was used. 

Answer: C 

QUESTION NO: 3 

You are implementing a DB2 Workload Manager (WLM) schema to limit the number of load 
utilities that can execute concurrently. Which WLM object would be used to accomplish this? 

A. work class with an associated work action and an appropriate threshold 
B. workload with an associated service class and an appropriate threshold 
C. work class with an associated service class and an appropriate threshold 
D. workload with an associated work action and an appropriate threshold 

Answer: A 
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QUESTION NO: 4 

Several operators are defined and linked together in DataFlow1. Another set of operators make up 
DataFlow2. A control flow is defined and both DataFlow1 and DataFlow2 are used. You require 
that DataFlow1 dynamically change the variable values used in DataFlow2. How can you fulfill this 
requirement? 

A. The inherent design of the SQL Warehouse Tool is that any variable value changed in one data 
flow is accessible by any other data flow as long as the data flows are defined in the same 
warehouse project. 
B. Using the File Export operator, DataFlow1 writes a file that contains updated variable values. 
DataFlow2 accesses those updated variable values by reading that same file using an Import File 
operator. 
C. When a control flow is executed, a run profile provides the initial values for all variables. Once 
those values are set in the run profile, they are in affect for the entire execution of the control flow. 
D. Using the File Export operator, DataFlow1 writes a file, containing updated variable values. A 
variable assignment operator is then used to assign the values in the file to the appropriate 
variables. DataFlow2 then has access to the updated variable values. 

Answer: D 

QUESTION NO: 5 

Relational database and a database model that is often a star or snowflake schema are 
characteristics of which engine storage structure? 

A. MOLAP 
B. ROLAP 
C. Multidimensional cubing 
D. Proprietary 

Answer: B 

QUESTION NO: 6 

Every night, an InfoSphere Warehouse application updates data in a star schema in the data 
warehouse. The update process is taking longer than expected and so management decides to 
begin the update process at an earlier time each day. Which function of the Admin Console will 
accomplish this task? 

A. Use Manage Processes Update. 
B. Use Manage Processes Disable, Update, and Enable. 
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C. Use Manage Processes Schedules Update. 
D. Use Manage Processes Schedules Suspend and Update. 

Answer: C 

QUESTION NO: 7 

OLAP metadata for a star schema has been defined in the Design Studio and exported as an XML 
document. Which step(s) are required to deploy the cube to a cube server? 

A. Import the cube to the cubing services repository. 
B. Import the cube to the cubing services repository and associate the cube with a data source. 
C. Import the cube to the cubing services repository, associate the cube with a data source, and 
add it to a cube server. 
D. Import the cube to the cubing services repository, associate the cube with a data source, add it 
to a cube server, and enable the cube. 

Answer: C 

QUESTION NO: 8 

A warehouse application contains a process that in turn contains an activity that references a 
variable with a final phase of EXECUTION_INSTANCE. When going through the schedule wizard, 
which object is actually scheduled? 

A. the process 
B. the activity 
C. a process profile 
D. the warehouse application 

Answer: C 

QUESTION NO: 9 

Which section of the InfoSphere Warehouse Admin Console menu would be used to schedule an 
application? 

A. Resources 
B. Common 
C. SQL Warehousing 
D. Processes 
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Answer: C 

QUESTION NO: 10 

Which two modeling techniques are similar in nature in performing prediction except for the type of 
the predicted value it uses? (For example, one predicts a class label, the other predicts a numeric 
value.) (Choose two.) 

A. Regression 
B. Sequencing 
C. Associations 
D. Classification 
E. Clustering 

Answer: A,D 

QUESTION NO: 11 

Which two InfoSphere Warehouse components are included in the logical group for the Application 
Server? (Choose two.) 

A. IBM Data Server Client 
B. Intelligent Miner Visualization 
C. WebSphere Application Server 
D. Workload Management plug-in 
E. Design Studio 

Answer: A,C 

QUESTION NO: 12 

You need to join three tables together in a data flow. The Table Join operator is placed onto the 
work area and only has two input ports defined. Which technique should you use to join the three 
tables? 

A. Use the SQL Merge operator to join all three tables. 
B. Add an additional input port to the Table Join operator. 
C. Use the Table Join operator to join two of the tables and then use the properties view to change 
the generated SQL. 
D. Use the Table Join operator to join two of the tables and then use a second Table Join operator 
to outer join the third. 
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Answer: B 

QUESTION NO: 13 

Which tool should be used to design a mining flow? 

A. Use the data model editor to build the mining data mart. 
B. Use the data flow editor to populate a new data mart from normalized tables in your warehouse 
or from external sources like flat files. 
C. Use the data flow editor to build the mining data mart. 
D. Use the mining editor to analyze existing data for the mining specific tasks in a production 
database. 

Answer: D 

QUESTION NO: 14 

What are three valid control flow components? 

A. stored procedures, triggers,subprocess 
B. process flow,subflow, flow charts 
C. sources, transformers, targets 
D. operators, variables, connections 

Answer: D 

QUESTION NO: 15 

A control flow requires the use of a variable that seldom changes after deployment. Which phase 
should be considered? 

A. EXECUTION_INSTANCE 
B. DEPLOYMENT 
C. DEPLOYMENT_PREP 
D. RUNTIME 

Answer: D 

QUESTION NO: 16 

6 



Which type of information extraction for text analytics is defined using Java regular expressions? 

A. list-based 
B. rule-based 
C. dictionary-based 
D. expression-based 

Answer: B 

QUESTION NO: 17 

The administrator has created a data flow that contains a fact table to a dimension table join. 
Which operators will allow for inserting the output into a permanent database table? 

A. Add a Table Target operator and give the target a table name for output. 
B. Add a Data Station operator and select create suitable table on the output port. 
C. Add a File Export operator and write the data to a file; add a Table Target to load the exported 
data. 
D. Add a Custom SQL operator and a Table Target operator and connect the output of the Custom 
SQL to the input of the Table Target. 

Answer: B 

QUESTION NO: 18 

What is meant by "Information as a Service"? 

A. expanding a traditional data warehouse with XML capabilities for the data 
B. extending the traditional data warehouse by providing business context layers to the data 
C. accessing a traditional data warehouse with a Web-based application for the data 
D. storing all analytical data in a multidimensional cube instead of a traditional data warehouse 

Answer: B 

QUESTION NO: 19 

When using the Design Studio to define hierarchies for a cube model, you specify the hierarchy 
type and deployment method. If you were to specify a hierarchy type of "balanced" and a 
deployment of "standard", what would that imply? 

A. The levels in the hierarchy have a consistent parent-child relationship and levels are logically 
inconsistent. The data used to define EACH level for a specific branch of the hierarchy is found in 
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a single row in the dimension table. 
B. The levels in the hierarchy have a consistent parent-child relationship and levels are logically 
inconsistent. The data used to define the members of ALL of the levels for a specific branch of the 
hierarchy is found in a single row in the dimension table. 
C. The levels in the hierarchy have associated meaning, branches have consistent depth and the 
parent of any member is found in the level above. The data used to define EACH level for a 
specific branch of the hierarchy is found in a single row in the dimension table. 
D. The levels in the hierarchy have associated meaning, branches have consistent depth and the 
parent of any member is found in the level above. The data used to define the members of ALL of 
the levels for a specific branch of the hierarchy is found in a single row in the dimension table. 

Answer: D 

QUESTION NO: 20 

Which two functions can the Design Studio perform? (Choose two.) 

A. Run the Optimization Advisor and analyze whether the recommended MQTs will be used given 
a predefined workload. 
B. Drop cube models from theInfoSphere Warehouse metadata database. 
C. Move and transform data. 
D. Rebuild an OLAP cube's member cache. 
E. Add an OLAP cube to the cube server. 

Answer: B,C 

QUESTION NO: 21 

You want an employee to be able to create, deploy, and schedule applications in the InfoSphere 
Warehouse. At a minimum, which roles should be assigned to the employee? 

A. Administrator and Manager 
B. Manager and Operator 
C. Administrator and Operator 
D. Administrator, Manager, and Power User 

Answer: A 

QUESTION NO: 22 

A customer wants to evaluate deep data compression in an AIX development environment. Which 
edition of InfoSphere Warehouse should they buy?  
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A. InfoSphere Warehouse Base 
B. InfoSphere Warehouse Intermediate 
C. InfoSphere Warehouse Advanced 
D. InfoSphere Warehouse Developer 

Answer: D 

QUESTION NO: 23 

What is the Design Studio used for as part of Cubing Services? 

A. to create OLAP metadata 
B. to start and stop a cube 
C. to create and modify a MDX seed query 
D. to rebuild a cube member cache 

Answer: A 

QUESTION NO: 24 

Which two statements are true about a hierarchies, levels, and dimensions? (Choose two.) 

A. A hierarchy object is an ordered list of level objects. 
B. A hierarchy object is an ordered list of dimension objects. 
C. Each dimension can have multiple hierarchies. 
D. Levels store information about how the hierarchies within a dimension are related to each other 
and how they are structured. 
E. Dimensions store information about how the hierarchies within a level are related to each other 
and how they are structured. 

Answer: A,C 

QUESTION NO: 25 

When debugging a data flow, how do you set a break point in the execution plan graph (EPG)? 

A. Select Toggle Breakpoint on a node. 
B. Select Set Breakpoint on a node. 
C. Select Toggle Breakpoint on a connector. 
D. Select Set Breakpoint on a connector. 
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Answer: A 

QUESTION NO: 26 

Which data-mining operator can be used to create set-valued XML documents that can be 
processed by some of the mining algorithms? 

A. Item Aggregator 
B. Dictionary Lookup 
C. Correlations Extractor 
D. Associations 

Answer: A 

QUESTION NO: 27 

Click the Exhibit button. 
In the exhibit, three workloads are created in the order shown from the specified DDL. You are a 
member of the FINANCE group, you submit a COGNOS job and your DB2 role is MANAGER. 
To which workload will your work activity be assigned? 

A. the default workload 
B. RPTG 
C. RPTGR 
D. RPT 

Answer: B 
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QUESTION NO: 28 

An XML file that contains cube model and cube metadata is imported into the Design Studio which 
is connected to the cubing services repository. Which statement is true regarding adding the cube 
to a cube server? 

A. Donothing, the cube was defined in the repository when the XML file was imported into 
theDesign Studio. 
B. Export the cube model metadata out of the Design Studio and import it into the cube server. 
C. Choose to deploy the cube directly from the Design Studio. 
D. Export the cube model metadata out of the Design Studio and import it into the database that 
contains the star schema. 

Answer: A 

QUESTION NO: 29 

For text analytics, the technique that uses a dictionary to do searching is known as which type of 
information extraction? 

A. rule-based 
B. list-based 
C. regular expression 
D. natural language processing 

Answer: B 

QUESTION NO: 30 

A cube has been deployed to cubing services. Due to an increase in the workload accessing the 
cube, response time has increased. What would allow you to apply additional resources (memory, 
CPU) to decrease the response time? 

A. Copy the star schema to another database and deploy the cube to both databases in which the 
star schemas reside. 
B. Add the cube to two different cube servers that are each connected to the same repository. C. 
Duplicate the star schema in the same database by copying the data to additional tables and 
the associate the cube with both star schemas. 
D. Add the cube twice to the same cube server. 

Answer: B 
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QUESTION NO: 31 

An analyst wants to be able to see the Store hierarchy as of the date the report was run. The data 
is to be exported to a file with the execution date as part of the file name. A data flow is created 
using an Export To File operator. What should be entered on the Properties tab of this operator to 
create the file names each time the report is run without having to edit the data flow each time it is 
executed? 

A. Enter the current date as part of the filename. 
B. Enter the Date variable from the RESERVED variable group. 
C. Enter the reserved word "CURRENT_DATE" as part of the filename. 
D. Create a Date variable in a new or existing variable group. Enter the new variable name as part 
of the filename. 

Answer: B 

QUESTION NO: 32 

Using InfoSphere Warehouse Design Studio, how do you propagate the changes that you made in 
your project? 

A. by comparing your source database with the target database 
B. by reverse engineering the project 
C. by generating and running a DML script 
D. by comparing and synchronizing the project and the original database 

Answer: D 

QUESTION NO: 33 

An administrator has three data flows that will run for different lengths of time. All data flows must 
be completed before the next step in the control flow can be initiated. Due to an overlap in the 
data, they cannot be run in parallel. As each data flow completes successfully, a status file is 
created. What can be used within the control flow to perform a wait for all three data flows to 
complete? 

A. Use a File Wait operator with three input ports that checks for the existence of the status files. 
B. Use a File Wait operator that checks for all three status files to be updated. 
C. Use a Parallel Container with three File Wait operators that check for the existence of the status 
files. 
D. Use a Parallel Container with three File Wait operators that check that the status files do not 
exist. 
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Answer: C 

QUESTION NO: 34 

Which two functions can the SQW tool perform for a data flow? (Choose two.) 

A. business processes such as secure command and secure FTP 
B. range partitioning for staging tables 
C. filtering and sorting for operator properties such as table columns 
D. operators for row compression, roll-in, and roll-out 
E. parallel process execution 

Answer: B,C 

QUESTION NO: 35 

A customer adds transactional data daily and rolls off historical transactional data monthly to 
archive. Which partitioning strategy should they use to accomplish this time-cyclical data 
management for their warehouse data? 

A. Specify a MDC for month and a table partitioning key for day. 
B. Specify database partitioning on day and a table partitioning key for month. 
C. Specify database partitioning on month and a table partitioning key for day. 
D. Specify a MDC on day and a table partitioning key for month. 

Answer: D 

QUESTION NO: 36 

You want an employee to be able to schedule, manage, and ensure that processes are running 
correctly in the InfoSphere Warehouse. At a minimum, which role should be assigned to the 
employee? 

A. User 
B. Operator 
C. Administrator 
D. Manager 

Answer: D 
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QUESTION NO: 37 

Customer Relationship Management (CRM) requires business insights that enable firms to offer 
specific, personalized services, and products to their customers. Which mining method is used for 
customer segmentation CRM applications? 

A. Association 
B. Sequencing 
C. Regression 
D. Clustering 

Answer: D 

QUESTION NO: 38 

What are two ways MDCs provide features that facilitate the roll-in and roll-out of data? (Choose 
two.) 

A. Inserts are faster because MDC can quickly create new empty blocks. 
B. Inserts are faster because the block index is only updated once the block is deleted. 
C. There is only a need to REORG data after roll-out. 
D. Locking is reduced for inserts because they occur at a block level rather than at a row level. 
E. There is no need to REORG data after roll-in and roll-out. 

Answer: D,E 

QUESTION NO: 39 

During which installation and configuration process can user groups be mapped to each role? 

A. the installation ofInfoSphere Warehouse Server for the Administration node 
B. the installation ofInfoSphere Warehouse Server for Data node 
C. the installation ofWebSphere Application Server 
D. the execution of theInfoSphere Warehouse Configuration Tool 

Answer: D 

QUESTION NO: 40 

You are debugging a SQL Warehousing Tool object. Which object requires that you generate an 
execution plan graph (EPG) in order to debug it? 
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